Ratio to ATLAS

do/dH; [pb / GeV]

107

107>

107°

[EEY

0.5

13000 GeV pp
S B B B I

[ 1T 1T 7T 1T | Tt T T TT T | T I_ ﬂ
B a
_ HT(Z+jets) (ATLAS Z+jets) 3
— 4=
L — 0
— o
— A
— — d
— . —
- X o
L ; 15
=
= =k
= Ho
— -] M
— o<
- i Nep)
L )
o
(9]
= —
= . .=
~ m  ATLAS m ks
— ---- Herwig 7.2.1 default 1=
= —&— Pythia 8.308 default = ;’
= ¢ Sherpa 2.2.9 default E a §
i 18
I —1 Q.
= =H o
— | | | | | | | | | | | | | | | —— |: E
: T T T | T T T T | T T T T | T T T |:
— -2
1
i .. :
| —0.5
L 1 L 1 1 L -é L 1 1 1 L |
0 1500 2000



	Contents
	Page 1


